GO )

A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)

4,075,692 3,848,080 227,612

4,075,692 3,848,080 227,612

Z2F51S 3,363,139 3,129,110 234,029

3,363,139 3,129,110 234,029

2,468,433 2,380,358 88,075

L9 2,468,433 2,380,358 88,075

1. g FAs 2,178,055 2,100,040 78,015
7F 2o dAFAS 664,115
1) dRk-H] 63,600
7H AFELE 210-01 [100,0009 X 5% X 23] = 1,000
) wAjel A 210-01 |20,0009 X 1,440%-= 28,800
th wALE 210—01 14,0009 x 3v] X 4217k X 1008] = 16,800
) AZEYo] 210-01 [500,0009 x 1% x 43| = 2,000
uh) AW S AR E 210-01 |500,0009 x 1% x 63]= 3,000
Hp) W S94=$-93 A & A = 210-01 |20,0009 x100%= 2,000
A} & AA S ] 210—01 10,000¢ x 1,000 = 10,000
2) A 69,610
7h AL 44,740
(1) A9 200
op F32A 210—06 |50,0009 x 43} &= 200
(2) A (58D 700
op 71& 210—06 |300,0009 x 1A 7}= 300
b =3 210—-06 200,000 X 2] 7= 400
(3) A (5H2) 2,500
op 712 210-06 |200,0009 X5A]7k= 1,000
p =7} 210—06 150,000 X 10A]7F= 1,500
(4) 73 (YR 23,490
op 71& 210—06 | 160,0009 X 724 7F= 11,520
) =7 210-06 90,0009 x 1334 7k= 11,970
(5) ZA e (YhE2) 9,000
op 71& 210-06 100,0009 X 60A] ZF= 6,000
W) =3 210-06 |50,0009 X 60A] 7= 3,000
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713 s AR RS (o] - AY)
RE ° =]
wopvy S0 | 2R | AT RERE 2 4% Ao 20196 (A) | 20189(B) | S2(A-B)
(6) AL (LRE3) 7,150
oh 7)1 210-06 70,0009 X 57 A 7t= 3,990
uh =3 210—06 [40,0009 X 79A]7k= 3,160
(7) Z3A S (R273Ah 1,700
op 71& 210—06 40,0009 X 30A]7F= 1,200
hH =7 210-06 |10,0009 X 504 2t= 500
) wizkol A} 24,870
(1) A5G (FH2) 210-06 |50,0009 x 47} 5= 200
(2) A (5D 2,900
op 71& 210-06 |300,0009 X 5A]7F= 1,500
W =3 210-06 [200,0009 X 7A|Zt= 1,400
(3) A (5H2) 3,700
op 71& 210—06 |200,0009 x 8A]7}= 1,600
) =3 210-06 |150,00091 x 14A]zk= 2,100
(4) Z3Ar (YR 16,770
op 71& 210—06 | 160,0009 X 57A7}= 9,120
h =3 210—06 [90,0004 X 85A]7F= 7,650
(5) ZA T (LRE2) 1,300
oh 7)1 210-06 |100,0009 X 7A]Z}= 700
b =34 210-06 |50,0009] X 12A]7k= 600
3) Z3Aka gl 15,880
7h AL 10,580
(1) AEH (AEAL) 210-06 25,0009 X200 = 5,000
(2) nEH (EHAGGF) 210—06 [60,0009 x 339 = 1,980
(3) WEB (A7) 210-06 90,0009 x40 = 3,600
) wlzkol 7} 5,300
(1) WEH] (AE-9) 210-06 |25,0009 x 207 = 500
(2) AEZN (FHAGIF) 210-06 [60,0009 %209 = 1,200
(3) ZER(MEA71FL A 210-06 90,0009 x40 = 3,600
4) AT+ A L 308,625
7hH AFALEA = 210-12 |15,0009%1,500% = 22,500
W) dgEn = 210-01 |10,0009 X 10% x108]= 1,000
AE - FoldETEuE - AL E - wddFg s - nddFed 2/20




et &= el
R ot =
I A PARSRS I =S AhE 201949 (A) | 2018 (B)
th 7+An] 210-04 |3,00091 % 1,500 = 4,500
) AR S A A 5,510
(1) ZAFAn)] 210-04 |4,0009 X500 = 2,000
(2) $-FA 2 = 230-02 15,0009 X6 x113]= 990
(3) AFTHAY 3 230-02 15,0009 x84 x 213]= 2,520
uh) AR 2F = 210-07 |500,000€ x 20t) = 10,000
EI R B R 210-01 |105,0009 X780 = 81,900
AP A=A L3 AL T 210-02 |471,2509 %1324 x 129 = 5,655
oh) AFTYAI AR {A K 64,248
(1) AArAEsr e8] G2 B 210-09 |1,250,000¢ x 23] = 2,500
(2) BB A S 210-01 |500,0009 x12¢= 6,000
(3) YEYIAGA K 210-13 [331,0009 x12€= 3,972
(4) ARA|AEGA| 1 2= 210-13 |648,0009 x12¢= 7,776
(5) EFUFAFAIARO)GEEE | 210-13 40,000,0009 x 17]¢= 40,000
(6) A A=A 6] 2 210-13 |2,000,000¢ x 2t} x 18] = 4,000
2 AET ALY 3 210-01 |5,000,000¢] X 17] %= 5,000
2 A A 108,312
(1) A2 AFE R 430-01 [900,000¢ x 102t} x 13]= 91,800
(2) M EAFALAFE 430-01 [900,000¢ x 5tf x 13]= 4,500
(3) AIFRUE A9A 430-01 |1,016,0009 x 2t} x 13]= 2,032
(4) ZAIFRYETV 430-01 1,030,000 x 1t x13]= 1,030
(5) FuAs=A7) 430-01 |1,000,000¢ x 2t} x 13]= 2,000
(6) Eolgo]E 430—-01 |1,200,0009 x 14 x13]= 1,200
(7) 2=+ 430-01 |100,000¢ x 87 x 18] = 800
(8) HAAEAL7] 430—-01 |4,950,0009 x 1¢] X 13]= 4,950
5) W&E#Hoin) 206,400
7h 220—-05 |20,0009 x 431 x 809 = 68,800
) =4 220-05 40,0009 x 437 X80 = 137,600
[ R A R R 836,860
1) UREEH] 84,560
7H AMESE 210—-01 |[100,0009 X 6% x43]= 2,400
W FHrreE 210-01 |100,000¢l X 15 % 43] = 400
W - FoldExFTTuS — 4 A F74s - ndAF 3/20
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(2] - A )

RE o =]

P IO o RN 2% REnE 20194 (A) | 20183(B) | 2% (A-B)
oh wA el 210-01 |20,000€ % 2,000%= 40,000
th mAdIs 210-01 14,0009 x 3w x 447+ x 1953] = 32,760
uh) WSAS5AIEA 2} 7 A = 210-01 20,0009 X50%= 1,000
v} & A s 210-01 [10,000€9 x 800" = 8,000
2) AT 102,020
7h &L 66,040

(D) A (5D 2,100
op 712 210-06 |300,0009 X 3A]7k= 900
h x> 210-06 [200,0009 X 6| 3t= 1,200
(2) A (5E2) 7,000
op 71& 210-06 |200,0009 X 20A]17F= 4,000
) =7 210-06 |150,00091 x 20A]3k= 3,000
(3) ZA A (YhH) 30,600
P 71& 210—-06 |160,000¢9 X 90A] 7t= 14,400
b =3 210—06 |90,000¢ X 180A]7t= 16,200
(4) Ak (YRk2) 13,000
op 71& 210-06 100,000 X 65A7F= 6,500
) =7 210-06 |50,0009 X 1304 3k= 6,500
(5) ZA - (YRE3) 11,780
op 71& 210-06 |70,0009 X 82A]7F= 5,740
b =3 210-06 |40,000€] X 151A]7k= 6,040
(6) ZFArr S (R27AD 1,560
op 718 210-06 (40,0009 x 26X 7k= 1,040
h =3 210-06 [10,0009 X 52A]7k= 520
L) 7EA7FA 35,980
(D) A (5D 2,800
op 71& 210-06 |300,0009 X 4A]7}= 1,200
h =3 210—06 [200,0009 X 8A] 7= 1,600
(2) A (512) 7,450
op 71& 210-06 200,000 X 14A]7F= 2,800
) =7 210-06 |150,00091 x 31A3k= 4,650
(3) ZA (YR 21,940
TF - FOLEFTILH - AAALRLE — T HAFA3) - ndAFY 4/20




deb 2
|| T Areipel % A5 A 2
AFel A & = = ‘= 0194 (A) 2018 (B)
op 71& 210—06 | 160,000¢ X 644 7F= 10,240
h =3 210—06 [90,0004 X 130A]F= 11,700
(4) ZAr (LRE2) 3,000
op 71& 210-06 100,000 X 15A17F= 1,500
) =3 210-06 |50,000 X 30A17F= 1,500
(5) ZFAr (YRE3) 790
op 71& 210—06 |70,0009 X 5A]7}= 350
b =3 210-06 40,0009 X 114 7t= 440
3) At s 24,290
7h FF- AL 16,540
(1) ZEFHELYD) 210-06 [25,0009 X250 = 6,250
(2) = (FHAFIF) 210-06 |60,0009 %624 = 3,720
(3) XEV(NESA77FLEAD 210-06 (90,0009 x73% = 6,570
) 9ZEQIZEAL 7,750
(1) TEH (FELH) 210-06 25,0009 X224 = 550
(2) E8 (FHAGHEF) 210-06 [60,0009 x30%= 1,800
(3) ZEN (A7 FLEAD 210-06 [90,000¢ X609 = 5,400
4) A9 379,990
7H ALALEAE 210-12 15,0009 x 1,300 = 19,500
W) Ae-FHE 210-01 |10,0009 X 10% % 103]= 1,000
t}) 7FalH) 210-04 |3,0009 x1,300% = 3,900
2} AR A A 5,110
(1) 73AF2In] 210—04 [4,0009 x4009 = 1,600
(2) TS 230-02 15,0009 X 6% x113|= 990
(3) A=Y )3 230-02 |15,0009 X8 x213]= 2,520
v AAAsS A 2w 210—07 500,000¢ x 35t = 17,500
v AR H A Y 210—01 105,0009 X 1,000 = 105,000
AP 974895 222,980
(1) DIDSRA K4 210-09 500,0009 x 43 = 2,000
(2) dAAESR 430-01 1,300,0009 x 1dj= 1,300
(3) 9ALG QX 210-01 250,0009 x10%= 2,500
(4) LA SE A 210-06 30,0009 X5 x 1503] = 22,500
TG - Fold2FE5uSg sl AAER3} — ndAFEY 5/20




I 5l
= )=
?}Zj ?} ﬂg A B-AE AEU A 2019d(A) | 20184 (B)
(5) 94PN =9 210-13 |10,000,000¢ x 13] = 10,000
(6) dAAFZH =7 184,680
h 4 AFZd = 210-13 |3,400,0009 X 453} x 18] = 153,000
) A4dF-EZd=2E 5 210—13 [30,000,0009 x13]= 30,000
(th A" (O18) 210—06 |40,0009 X7 x43]= 1,120
(@) AAE (2 210-06 |20,000€1 X 71 x 43| = 560
op) AT WS A4 A G733 210-01 |5,000,000¢ X 13]= 5,000
5) W] 246,000
7H ) 220-05 |20,0009 x41% x 1004 = 82,000
23] EH} 220-05 |40,0009 x41% x 1009 = 164,000
E}.z A EASF 84,500
A AL TS 41,000
7}) =7 N) 210-01 |23,000,0009 x 14 = 23,000
) dA5o1H] 220-05 |40,0009 x 90 x5 = 18,000
2) 7| An A gas 13,500
7P A573H) 210-01 |150,0009 x50% x 13]= 7,500
) AgoiH] 220-05 (40,0009 X509 x 3= 6,000
3) A °J7ﬂ$4EP 210—01 [30,000€ x 1,000 x13]= 30,000
E‘r ‘b‘oJJ_ 49 A 41,000
) WA= A 11?_03_4 30,000
7}) A4 71| 210-01 |6,000,000¢ x 3774 = 18,000
) 914=0dn) 220-05 |40,0009 X609 x5 = 12,000
2) 7| n e 11,000
7 A7 H] 210-01 [100,0009 X509 x13]= 5,000
) dAgoin) 220-05 (40,0009 x50% x3Y= 6,000
vl 79 Ax = A 551,580
1) 4rRH--H]| 92,400
7H wA el 210-01 |20,000€ % 2,100%= 42,000
W} wAerE 210-01 |14,0009 x 3wl X 4A]7Fx 3003] = 50,400
2) A 152,000
7h &5 7AE 115,500
(1) ZA (Y4 34,000
W& - FolYEFTUS — Aeg - WAGFA3} — w AT 6/20
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(9] Q)

7@ Zl'l %'ﬂ Aﬂl?‘ /‘]“ﬁ‘fﬁoﬂ E_A-]]E A iLHO:l 2019L:1 (A 14 =7} _
/K]—C‘j /K]—C‘j A]’Ot] =1 = = U= = i ) 20181_(]3) = (A B)
op 71& 210—06 | 160,000¢ X 100A] 7F= 16,000
h =3 210—06 [90,0004 X 2004 3= 18,000
(2) ZAr (LRE2) 20,000
op 71& 210—06 100,000¢ X 100A]3F= 10,000
uh =3 210—06 [50,000€] X 2004 7= 10,000
(3) 7t (YNE3) 61,500
op 71& 210—06 70,000¢ X 650A] 7F= 45,500
h =7 210-06 |40,0009 X 400A] 3= 16,000
) ZQIZEAL 36,500
(D) A (5H2) 7,000
op 71& 210—06 200,000¢ X 20A] 7= 4,000
) =7 210-06 |150,00091 x 20A]3k= 3,000
(2) Z3A (YR 29,500
op 71& 210-06 | 160,0009 X 100A] ZF= 16,000
h =3 210—06 [90,0004 X 1504 7F= 13,500
3) ZHAtaLE ] 30,080
7h &AL 24,650
(1) BN (AELY) 210-06 25,0009 X590% = 14,750
(2) ZE=R (FHAGIF) 210—06 [60,0009 X609 = 3,600
(3) =N (ASA77E734D 210-06 [90,0009 X704 = 6,300
) WIZEQIZEAL 5,430
(1) IEB] (AEDL) 210-06 |25,00091 x 12 = 300
(2) AEN] (EHAGLT) 210-06 60,0009 x 159 = 900
(3) ZEN (MEAFLAAD 210—06 90,0009 X479 = 4,230
4) AF+FA L 127,100
7H AEAEA =R 210—12 15,0009 X 2,000 = 30,000
W) AFErE 210-01 |10,0009 x 10% % 103]= 1,000
th 7+21n) 210—04 13,0009 % 2,000 = 6,000
b A A=A w 210-07 500,000¢ x 20t = 10,000
p) &AA =Y 210-01 105,000 X700 = 73,500
Hp) A9 3] 6,600
(1) +9&+ 210-01 |5,0009) x 8% x 203] = 800
AE - FoldETEuE - AL E - wddFg s - nddFed 7/20




™
Az
b
El
fo
re
-
e

(9] - )

N i AT A S S AU S 20199 (A) | 20189 (B) | =#(A-B)
A A | A ) T s - - o
(2) Bt 210-06 |80,0009 x 17 x 10%] = 800
(3) nERHELY) 210-06 [25,0009 X109 x203]= 5,000
5) WEFHoH] 150,000
7hH 3 220—-05 [20,000€9 1,500 x5 = 150,000
2. ZJAAASF 290,378 280,318 10,060
7} 2 nAAA AL 165,364
1) LRk H] 37,504
7H H7re= 210—01 |100,0009 X3%Fx13]= 300
W) w4 210-01 (20,0009 x861%= 17,220
o AL IE 210-01 |14,0009 x 3wl x 417k x 783] = 13,104
2h) dAAAS AN 210—01 10,0009 x 6889 = 6,880
2) AT 63,810
7h LA 37,800
(1) &AsS 600
o F44 210-06 |50,0009 x127&= 600
(2) A (5HED 2,800
op 71& 210—06 |300,0009 X 4] 7}= 1,200
) =7 210-06 [200,0009 X 8A| = 1,600
(3) ZA - (YhH) 14,200
op 71& 210—06 | 160,000¢ X 464 7F= 7,360
) =7 210-06 |90,0009 X 761 2t= 6,840
(4) AL (YRr2) 4,800
op 712 210—06 |100,000¢ X 24 A 7}= 2,400
) =3 210-06 |50,0009 X 48A]3t= 2,400
(5) 7 (YRE3) 10,300
op 71& 210—06 70,0009 X 90A] 7F= 6,300
W =7 210-06 40,0009 x 1004 7= 4,000
(6) A (RZ7HAH 5,100
op 71& 210-06 40,0009 X 85A] 7F= 3,400
) =3 210-06 10,0009 X170A|3k= 1,700
) 9ZEQIZEAL 26,010
(1) A9 500
AE - FoldETEuE - AL E - wddFg s - nddFed 8/20




718 YR EnSdTd (gFo] ;29
= o B
poryy 3 ?};3 ﬂg NERE = = 20199 (A) | 2018d(B) | =7 (A-B)
Op F32 210-06 |50,0009 X103} = 500
(2) A (5D 3,400
op 71& 210—06 |300,0009] X 6A] 7F= 1,800
W =7 210-06 |200,0009 X 8 7= 1,600
(3) ZA T (YR 18,440
op 712 210—06 |160,000¢ X 50A]7F= 8,000
) =3 210-06 90,0009 X 116A]3k= 10,440
(4) Z3Arr (YhE2) 1,600
op 71& 210—06 |100,000¢ x 8A] 7k= 800
) =7 210-06 50,0009 X 164 7F= 800
(5) ZA A (YRE3) 1,350
op 71& 210-06 |70,0009 X 9A] ZF= 630
(h =3 210-06 |40,0009l X 18] 7h= 720
(6) ZArr (R2=3AD 720
op 71& 210-06 |40,0009 X 12A]7F= 480
W =3 210-06 |10,0009 X 244 7= 240
3) A EN] 14,300
7h AL 9,785
(1) ZEB(HELY) 210-06 [25,0009 x89™ = 2,225
(2) = (FHAFFF) 210-06 |60,0009 X394 = 2,340
(3) =V (HEH717FLEHEAD 210—06 [90,0009 x589 = 5,220
) W7EQIZEAY 4515
(1) ZEB(HELY) 210—06 |25,0009 X399 = 975
(2) EN (FHAGIF) 210—06 [60,0009 x 2399 = 1,380
(3) ZEV (A7 EAD 210-06 90,0009 X249 = 2,160
4) AF+FA4d 49,750
7H AFASAE 210-12 [15,0009 x 900 = 13,500
W Al 210-01 10,0009 X 10% x 53] = 500
h 7H21n] 210-04 |3,000¢ %9004 = 2,700
2h) AN g EE 210-01 |5,0009 x 207 x108]= 1,000
uh) ZFAFAIH] 210-04 [4,000¢ x 2004 = 800
nh) A A2 210-07 |500,000¢ x 10t= 5,000
TF - FOLEFTILH - AAALRLE — T HAFA3) - ndAFY 9/20
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GO )

7@ Zl'] %'?4 Aﬂl?‘ }\].tﬁLHOﬂ E_A-]]E /\]-iLHO:l 2019L:1 (A 14 =7} _
/K]—C‘j /K]—C‘j A]'Ot] =1 = = U= = i ) 20181_(]3) = (A B)
AP AT AL 210—01 105,000¢ X 2509 = 26,250
U, =S5 udxAads 125,014
1) dREk-H] 30,408
7 AVRELE 210-01 |100,000€ X 3% x 13]= 300
W) HrreE 210-01 |100,0009 x 93]= 900
) wA el 210-01 |20,000¢ x 750%= 15,000
o) AL E 210-01 |14,000¢ x 31 X 324 A 7}= 13,608
o)) &840 210-01 10,000¢ X609 = 600
2) A 49,560
b FR-AZAL 81,170
(1) A9 900
TR 210-06 (50,0009l X 187} = 900
(2) A+ 7,100
op 71& 210-06 30,0009 X 13023} = 3,900
h =3 210—06 8004 x4,000%= 3,200
(3) ZA T (LR 14,740
op 71& 210—06 160,000 X 46A]7F= 7,360
) =7 210-06 [90,000€ X 82A3= 7,380
(4) 73 - (YhE2) 4,350
op 71& 210—06 100,000¢ X 23A]7}= 2,300
) =7 210-06 |50,0009 X 41| 7k= 2,050
(5) ZA A (LRE3) 3,600
op 712 210-06 [70,000¢ x 24X 3= 1,680
) =3 210-06 |40,0009 X 48A]7F= 1,920
(6) A (H27HAh 480
op 71& 210—06 |40,0009 X 8A] 7F= 320
b =3 210-06 |10,000€ X 16X 7= 160
) WIZEAZAE 18,390
(1) A+ FH2) 210-06 |50,0009 x 123}% = 600
(2) A (5D 700
op 71& 210-06 |300,0009 X 1A 7F= 300
h =3 210—06 [200,0009 X 2A] 7= 400
AE - FoldETEuE - AL E - wddFg s - nddFed 10/20




deb 2
I A PARSRS I =S AEU S 201949 (A) | 2018 (B)
(3) AT (5H2) 1,000
op 71& 210-06 |200,0009 X 2A]3}= 400
b =34 210-06 |150,0009 X 4A]7F= 600
(4) ZHAre (YRrD) 12,240
op 71& 210—06 | 160,000¢ X 36A]7F= 5,760
hH =7 210-06 |90,0009 X 72| 7k= 6,480
(5) AL (YRr2) 2,200
op 712 210—06 |100,000¢ X 11A] 7= 1,100
b =34 210-06 |50,0009 X 22A]3k= 1,100
(6) AT (LRE3) 1,050
op 71& 210—06 |70,0009 X 7A 7= 490
h =37 210-06 40,0009 X 14A]7F= 560
(7) ZAAr S (R27HAh 600
P 71& 210—-06 |40,0009¥ x 10A]7k= 400
h =3 210—06 [10,0004 X 20A]7k= 200
3) AL E ] 7.165
7h &AL 3,940
(1) ZErHELY) 210—06 [25,0009 x589 = 1,450
(2) LEB (ZHAGLT) 210-06 60,0009 x13%= 780
(3) =R (MEA7173L A 210—06 [90,0009 x 1993 = 1,710
) WIZEQIZEAL 3,225
(1) IEB] (AEDL) 210-06 |25,00091 X 15 = 375
(2) AEN] (EHAGLT) 210-06 60,0009 x 16 = 960
(3) ZEN (MEAFLAAD 210-06 [90,0009x2194= 1,890
4) AF+FA L 37,881
7hH AFASA R 210—12 15,0009 X400 = 6,000
W) AFErE 210-01 |10,0009 X 10% x 103] = 1,000
oh) 7H2In] 210—04 13,0009 X400 = 1,200
2} ALY EE 210-01 5,000 X 20% x 103] = 1,000
n}) ZAF21H] 210-04 |4,00091 X907 = 360
v AAAs A 2w 210-07 500,000¢ x10t]= 5,000
AP & AA 3 A 210-01 105,000 x 1809 = 18,900
TG - Fold2FE5uSg g3} — wdAFEY 11/20




et CuSArd (9] D)
RE o ]
P IO o RN 2% REnE 20194 (A) | 20183(B) | 2% (A-B)
oh) B7tR 1Y 4421
(1) ¢1An) 110-03 |71,8309 x 3% x 20 = 4,310
(2) 1819 320—05 [4,309,8009 xX1.5%= 65
(3) A RE 320-05 |4,309,800¢¥ x1.05%= 46
A FaddzF73) 894,706 748,752 145,954
AR FFLdIdFEY 894,706 748,752 145,954
1. AR FFIdUnsEd 894,706 748,752 145,954
7} ARE-GH] 105,996
1) AP 210—01 [100,0009] X 1 X 493]= 4,900
2) FA 1A 210-01 |20,0009 % 3,095% = 61,900
3) nAdIs 210-01 |14,0009 x 3vl] X 4A17Fx 197 3] = 33,096
4) AAAT AN 210-01 10,0009 %610 = 6,100
B 140,900
1) FFdA 49,130
7H EASG (A2 210-06 |4,000¢ X 20078 = 800
) A (5E D) 500
(1) 7]1& 210—06 300,0009 x 1§ X 12| 7k= 300
(2) =7} 210—06 [200,000€] X 174 X 1] 7k= 200
th A3 (5E2) 700
(1) 7] 210—06 200,0009] x 2 x 1 A] 7k= 400
(2) =3 210-06 150,000 x 27 x 1A 7k= 300
2} A (YR 15,300
(1) 7% 210—06 | 160,0009 x 45 X 12| 7k= 7,200
(2) =3 210-06 90,0009 x 457 X 24 7k= 8,100
vl AR (A RE2) 17,800
(1) 7]1% 210—06 100,0009 X 88% x 1 A| 7k= 8,800
(2) =7} 210—-06 |50,000€ X90% x 24| 7t= 9,000
vh) ZARE (A RE3) 11,000
(1) 7]1% 210—06 70,0009 X 100% X 1A] 7k= 7,000
(2) =3} 210—06 40,0009 X 100% X 1A 7k= 4,000
AD) ZFAFTEE (R 27AD 3,030
(1) 7] 210-06 40,0009 X514 x 12| k= 2,040
T & - AL FFAAFLE - AT FAdAFEY 12/20




713 s AR RS GO ERE)
)] [e) )=}
wopvy S0 | 2R | AT Aripel %A% AU 20194 (A) | 20184 (B) | F7(A-B)
(2) =7} 210-06 |10,0009 x99 x 1A 7= 990
2) ZJAZIAL 91,770
7h A3 (5D 3,500
1) 7|1& 210-06 |300,000¢ x 59 X 1A 7k= 1,500
(2) =3 210—06 [200,0009] X5 X 2A] 7k= 2,000
W) A (5E2) 17,500
(1) 71& 210-06 |200,000€ x 359 x 1A 7k= 7,000
(2) %7} 210-06 |150,000¢ x 359 X 24| 7k= 10,500
th A (AR 51,000
() 7= 210-06 160,000 x 1509 x 1A 7k= 24,000
(2) =7} 210—06 [90,000€ X 150 x 24| 7= 27,000
2} A (ARE2) 17,000
(1) 71& 210-06 100,000 x 859 x 1A|7k= 8,500
(2) %7} 210-06 |50,000¢ x 859 x 24| 7k= 8,500
n}) AR (A RES) 1,100
(1) 71= 210-06 |70,00091 X104 X 1A 7k= 700
(2) %3} 210-06 |40,0009 X109 x 1A 7k= 400
Hh) AL (R 27D 1,670
(1) 71& 210-06 |40,000¢] x 349 X 1A 7k= 1,360
(2) =3 210-06 10,0009 X319 X 1A]7k= 310
o}, AL EH] 19,590
1) S5FL73AE 7,040
7hH &N (AELY) 210—06 [25,0009 X260 x1d= 6,500
W) w238 (EH 4GS 210—06 [60,0009 X34 x1Y= 180
) nER (A7 4L3A) 210-06 90,0009 x4 x 1= 360
2) ZEJAZFAL 12,550
7hH &N (AELY) 210—06 [25,00090 x178% x1U= 4,450
W) nEH (EHAGES) 210-06 |60,0009 X309 x19d= 1,800
o &N (NEA71744 734 210—06 (90,0009 X701 x19= 6,300
gt A9 4d 152,220
1) dFASA= 210-12 |15,0009 x50% x 203] = 15,000
2) AL FH|E 210-15 2,0009 X 5% X 693] = 690
NG - Fold TS — JAALEE - AL FAgFAS - AL I FAAFEY 13/20




dekn 2
X )=
?}Zj ?} ﬂg RENE == Al 20199 (A) | 20184 (B)
3) 7FAH) 210-04 |3,0009 x3,160% x33]= 28,440
4) 7FgAg g EE 210—15 50,0009 X 1% x 493] = 2,450
5) FF7AIE Y AFA 3,240
7 Z3AFAIH] 210—04 14,0009 X300 = 1,200
W) A 2" S 230-02 15,0009 X494 x103]= 600
h Aol 3 230-02 [15,000¢ x84 x 123 = 1,440
6) AAASAFAAH 210-07 |500,0009) X 26t = 13,000
7) AAGIA Y 210-01 105,000¢ X 3809 = 39,900
8) e w87 210-01 |8,000,000¢ x 674 = 48,000
9) Mo =HE] T A 430-01 15,0009 X100 = 1,500
v}, WS o H 476,000
1) T 220-05 20,0009 X 1,560 X 58] = 156,000
2) & 220—05 40,0009 % 1,600 X 53] = 320,000
R =1 ] 712,553
713489 712,553
712,553
47 o 712,553
7| B BZZIH) 139,186
7t 71387324 7 m) 15,600
1) AR5 FFx10] 7,800
7H 4% 250—02 [650,0009x19 x12¥= 7,800
2) 71 F%10] 230-01 |6,000,000¢ x 17] = 6,000
3) L7 F-F21] 230—01 [40,0009 x 459 = 1,800
1o N AR b R R 123,586
1) w5 25,674
7h ARk 4,346
(1) B 210-01 |800,0004¢ X 13-4 = 800
(2) 7NA 210-01 394,000 x99 = 3,546
) Ezujan) 210—05 8,0008 x99 x 143]= 1,008
th o] 13,120
(1) T 220—01 20,0009 x 8% x 24 3] = 3,840
(2) = 220-01 40,0009 X894 x153]= 4,800
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?}ij ?} ﬂg Apeluy el == Ao 2019%(A) | 20184 (B)
(3) &9 220-01 |70,0009 x84 x 83]= 4,480
2h) AP A 3,000
(1) 39 230-01 |250,0009 x12¥= 3,000
BRI R ] 4,200
(1) 7% 250-02 |350,0009 x 1% x12¥= 4,200
2) PN 27,314
7 Lnke-g ] 4,346
(1) B 210-01 |800,0004¢ X 13-4 = 800
(2) 7herdd 210-01 |394,0009¢1 x 9= 3,546
h E2u Al 210-05 8,000 x99 x143]= 1,008
th o] 14,760
(1) T 220—-01 20,0009 x 97§ x 24 3] = 4,320
(2) Ty 220-01 |40,0009 x 9 x158]= 5,400
(3) =9 220-01 |70,000¢ x9'§ x 83 = 5,040
2h) A RN 3,000
(1) 3¢ 230-01 |250,0009¢1 x 129 = 3,000
uh) A M F T F211] 4,200
(1) 7% 250-02 |350,0009 x 19 x 129 = 4,200
3) AT 22,076
71 ARk 3,164
(1) B 210-01 |800,0004¢ X 13-4 = 800
(2) 7MA% 210-01 |394,00091 X6 = 2,364
) ELuAn] 210-05 8,000 x 69 x143]= 672
th =ujedn] 9,840
(1) I 220-01 |20,0009 X 6 x 243|= 2,880
(2) Ty 220-01 |40,000¢ x6™ x158]= 3,600
(3) &9 220-01 |70,0009 x 6% x 83]= 3,360
2h) FA G T 3,000
(1) B¢ 230-01 |250,0009 x12¥= 3,000
ah) A M FF =] 5,400
(1) =&+ 250-02 |350,0009 x1% x129= 4,200
(2) 7% 250-02 |100,00091 %1% x 129= 1,200
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;‘é}g ?} Ay == A2 201949 (A) | 20184 (B)

4) FH5 48,522
7h) dnkegu] 7498
(1) 3G 210-01 800,000¢ x 1441 = 800
(2) M 210-01 |394,0009 %179 = 6,698
) Eu]an) 210-05 |8,0009 X174 x143]= 1,904
th Sjofu] 29,520
(1) I 220-01 |20,0009 X187 x 243] = 8,640
(2) =4 220-01 |40,0009 x 189 x158]= 10,800
3) =9 220—-01 |70,000¢ x18™ x83]= 10,080
7h FALIYFFT 4200
(1) A4 230-01 |350,00091 x12¢= 4,200
wh A A 5,400
(1) 7% 250-02 |350,0009 %19 x129= 4,200
2) 3% 250-02 100,000 %19 x129= 1,200

2. 71 3-8 73] 573,367 577,678
7t B TLERAA 120,490
1) A7) & 210-02 |8,500,0009 x 129 = 102,000
2) Ao+ 210-02 550,0009 x12¥= 6,600
3) dtrEas 210-02 390,000 x 129 = 4,680
4) FAREFAR 210-02 80,0009 x 129 = 960
5) 98 Eeld Tl xf 210-02 [200,000¢ x13]= 200
6) AR =R 2 210-02 310,0009) x 18]= 310
7) Hdeletd AL 210-01 |220,0009 % 18]= 220
8) 7} AbaLE| Ak 210-02 50,0009 x 13]= 50
9) LEFAR 210-02 |200,0009 x12¢= 2,400
10) A571524 210-01 |10,0009 X 18] x 43]= 720
1D $He+ 210-02 (50,0009 x12€= 600
12) #H7] &= gjH] 210-02 350,000 x58]= 1,750
. g Abee 4o 23,080
1) 2"A| A erd A A 8- 210—-13 |330,0009x12¢¥= 3,960
2) A7|tAR AL 210-13 |550,0009 x12¥= 6,600
3) YAAE 210-13 |460,000¢ x 63]= 2,760
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P IO o RERE %A% SENE 20199 (A) | 20189(B) | Z7H(A-B)
4) ER T3 A2D5AHA} 210—13 500,000€ x 23] = 1,000
5) HAIE R AHGH RIFgA 210—13 80,0008 x 129 = 960
6) A A GX B Lo 210—13 400,0009 x12¢= 4,800
7) 3FA A EQFA A AN 210—13 1,500,000 x 23] = 3,000

AR RIS RS 115,880
1) Y7 gewy A 210—09 100,000€ x120¢]= 12,000
2) A3tz 210-02 20,0009 X 150E= 3,000
3) AF75-A o 210-09 [180,000¢ X 18t x 23] = 6,480
4) RA#HAH 210-09 1,500,000 x27]= 3,000
5) A Y42l =x}A) e 210—09 | 1,000,00049 x103]= 10,000
6) EREFQ AT YA AASFSE | 210-01 1,000,000 % 13]= 1,000
7) AZNA A FA B 210—09 500,0008 x129= 6,000
8) WA X K= 210-09 300,0009 x12¢8= 3,600
9) HAFS-X K 5=Ta 210—09 5,400,0009 X129 = 64,800
10) 32U 7AAAE A T 210-09 |500,000¢ x 123 = 6,000
2} YA 2993 66,449
1) Fxd 62,337
7h 718w 110-04 1,870,400 x 2% x 12€ = 44,890
h) Z21n) 110-04 |130,0009 x 2% x 129 = 3,120

) HAE 7] 110-04 |500,0009 x 27 x 23] = 2,000
g}) 233 = 2)n) 240-02 400,00091 x 29 x 13]= 800
op) Axjt 110-04 |70,0009 %27 x 159 = 2,100
uh) E &+ 320—12 50,000,00049 x1/12= 4,167
AP A7 320—12 |50,000,000¢ X 3.23%= 1,615
ob) Q17| QokH E 320-12 [50,000,000¢1 X 3.23% % 7.38%= 120
2} Rl 320—12 50,000,0009 X 4.5%= 2,250
2H 1853 320—12 [50,000,000€ X1.5%= 750
7H AR R 3 320—12 50,000,000 X 1.05%= 525
2) A4 (EA) 4,112
7h 1714] 110-03 |66,8009 X 17 x60d= 4,008
W} 1&rd 320—05 4,008,0009 x1.5%= 61
o Ak R 3 320—05 14,008,000€ X 1.05%= 43
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I A PARSRS I =S AEU S 201949 (A) | 2018 (B)

o}, A e 22,350
1) A2 A0 210-15 |500,000€ x 184 = 500
2) FolAu|Lde 210-13 |300,000¢ x12¥= 3,600
3) %34 210-06 |50,0009 x 365 = 18,250
B}, P42 18,587
1) &2 (15,000kmo]”d) 210—-10 |12,658,000¢ x 1th= 12,658
2) T 958 (15,000kmol’d) 210-10 |5,929,0009 x 1tf= 5,929
Al A& 21,285
1) $HEAHF (7D 210-08 1,3589AX56 ¢ x45%= 3,423
2) 7tAd g 210-08 5,100 X50m x12¢= 3,060
3) SHAL 7| A S5 210-08 |90591x9 ¢ X759 x 2t} = 1,222
4) HAXLA 5 210-08 |1,3589 x40 ¢ x 2509 = 13,580
oF. Q-9 ] 22,298
1) AR E 210—01 |20,0009 x22Fx12¥Y= 5,280
2) FArgE 210-15 |300,0009¢1 x 12€ = 3,600
3) 9]k 210-01 |70,0009 X 22% x 33| = 4,620
4) RAA=AGAE 210-15 |30,000¢ x 8% x 23] = 480
5) A5 1,488

78 ZAE (AR 1,320

(1) 71& 210-06 |160,000¢ x 6] 3F= 960

(2) %% 210-06 90,0009l x 47| 7}k= 360

W) 9= 210-01 |14,0009 x 35 X 223 x 28] = 168
6) Zo]i 210-03 |250,0009 x 5% = 1,250
7) &A= 210-01 |500,0009 % 17}= 00
8) AAHE IS 210-01 |1,000,0009 X 1= 1,000
9) AIZAEH g=AGA NS 210-01 130,000 x 2% = 260
10) AA A =2 210-01 |100,0009 x58]= 500
11) S AY A 210-01 [100,0009¥ X 6% = 600
12) Fo A& 210-01 |7,0009 X80 % 33]= 1,680
13) AR5 5 1,040

7 724 210-04 |3,0009 %20 x 23]= 120

b AH) 210-04 8,000 x 207 x 23] = 320

St =Gn - A571 A 18/20
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P IO o Areipel %A Aol 2019 (A) | 20189(®B) | S7(A-B)
o) =A== 210-15 |30,0009 X 10% x 23] = 600
PR DANRS 115,280
1) AgeoEZE 210-15 |275,0009 X 6% X 63]= 9,900
2) FA 7|4 210-09 |250,0009 x 4% % 28] = 2,000
3) wA AR A AT 430-01 |1,800,0009 x 3t} x 135]= 5,400
4) FAAH 7] 430—01 2,400,0009 x 3¢} X 18] = 7,200
5) FAAA(dE4) 18,839
71 o1 AN] 110-03 |66,8009 x5 x55% = 18,370
W) 1853 320-05 |18,370,0009 X 1.5%= 276
h A R 320-05 |18,370,00091 X1.05%= 193
6) &S M 71,941
7hH 71¥5F 110-04 |1,672,2809x2W x12¢¥= 40,135
W) BRI 110-04 |480,0009 x12¢9= 5,760
o)) wEHRZH| 110-04 [60,0009 x 2% x129= 1,440
2h) 9 Ix 5 110-04 |50,0009 x 2% x 129 = 1,200
wh) 7t 110-04 80,0009 x 29 x 129 = 1,920
up) 2211 110-04 |130,0009 x 27 x 129 = 3,120
AP A 7)Ao 110-04 |300,0009 x 27 x 23] = 1,200
o) W A& 7H] 110-04 |500,0009 x 27 x 23] = 2,000
2}) UhEE B 240-02 |400,000¢ x 27 x 13] = 800
2} Az 110-04 |77,0009 x 27 x 209 = 3,080
7hH HAF 320-12 |59,855,0009 x1/12= 4,988
Ep) A7 13 320-12 |59,855,0009 x 3.23%= 1,934
) =037 Q0kR 3 320-12 |59,855,0009 X 3.23% X 7.38%= 143
3 =l 320—12 159,855,0009 X 4.5%= 2,694
7)) 1§13 320—12 159,855,0009 X 1.5%= 898
) A K3 320—12 |59,855,0009 X 1.05%= 629
2k G2 A 47,668
1) Y33 430-01 |479,0009 x 7tl= 3,353
2) AFFAAATHA 430-01 |1,245,0009 x5t= 6,225
3) A EA A 7] 430-01 |770,000¢ x 2t = 1,540
4) HAE7) 430-01 |450,0009 x 2t= 900
SRt - 7R e - 71Eegn] - AE57] I 19/20
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2] 2 o9 Al H =
o = T T
A (eZ] H_ =2 A=Y A 14 1= =7F(A—
5 FEAGAHTHEH) =5 25,000
7h #dmal 430-01 |3,550,0009 x 27} = 7,100
) kA Al 430-01 |2,767,0009 x 17]= 2,767
oh) @7 AEAm Al 430-01 |2,502,0009 x 174= 2,502
Zh) AAEZY AT 430-01 |2,588,0009 x 17]= 2,588
uh) SFA|ZE 7sgAA A 430-01 |1,797,0009 x 17} = 1,797
vh) FEMAl 430-01 |2,404,0009 X 174= 2,404
AP FAEhe- Al 430-01 |2,795,0009 x 17= 2,795
oh) AAEYE 430-01 |2,544,0009 x 17]= 2,544
2} W EnA}A] 430-01 |503,000€ x 17]= 503
6) LHTEALE=EF 7,800
7h Ag =t 430-01 |200,00091 X 157)= 3,000
) ebxgo) =} 430-01 |80,0009 x 607)= 4,800
7) BAAZ A o 430-01 |450,0009 x 17]= 450
8) MA7]7) 430-01 |450,000€ x 271= 900
9) FEASAGY=F 1,500
7} <A ezt 430-01 600,000 x 17)= 600
) ehxpg o)At 430-01 |225,0009 x 47} = 900
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